CMS, 13 TeV, pp — four jets, pro®™® > 1000 GeV

= :‘ T T ‘ T T T ‘ T T T ‘ T T T ‘ T T
lg - —+4— Data
= 1 —+— Sherpa 3 (CSS o) =
$§§ - —+ — Sherpa 3 (CSS 10) ]
N B —+ — Sherpa 3 (C i
107! & -t- Sherpa : —
; -+ + SHe ek ;
B fF [erpa-3 (CSS 45) i
10-2 =1 1 ‘:"-- l”elpdgii (CSS 46) _
S & | herpa 3 (Alaric) E
- | | ]
i I P : -
BT .
EH T A I I T
wg [T T IenEEERE
L3 L I NI
£ 129 T LA L * =
D ’ E ! ] == | - + =
S o EF T e T e ==RERRSE
= 08 = e o W e —=
0.7 £+ ] ] | - [ | -
8:? 541\ dETY LA T "T%"\ N B B
2 2.2 2.4 2.6 2.8 3

>
<
<
N
=y
5]
e



